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MANIPL]RI
(MODERN INDIAN LANGUAGE)

Full Marks : 100

Pass Marks : 30

Time : Three hours

Tlrc figures in the margirr inilicate full nmrks

for lhe questions.

Q. No. 1 (Ka to Nya) caries 1 mark enclt

Q. No. 2 urries 2 nntks each

Q No. 3 cnrries 4 nnrks enclt

Q. No. 4 ctrries 4 nnrks ench

Q. No. 5 carries 4 nnrks eaclt

Q. No. 6 carries 4 tnrks eaclr

Q. No, 7 cnries 5 nnrks. eaclt

Q. No. 8 cirries. S nnrks eaclt

Q. No. 9 canies 5 nnrks eaclt

Q. No. 70 carries 6 nnrks each (any ttlo)

Q. No. 11 cnrries 5 tnsrks

Q. No. 72 caries 5 nnrks each (any thru)

Q. No. 13 cmies 70 nmrks

1x10=10

2x6='12

4x-l=4

4x-l=4

4x1=4

4x1-=4

5x2=10

5x1=5

5x1=5

6x2=1.2

5x1=5

5x3=15

10 x 1=10

Total = 100
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(New.Course)

rm osrt "mB13 fi1 :

(o) <r6.-{td qrmr

({) ffiq <{ffiql @r{n xrqrcfiiz

(tt) Efiq, ?q{, 6ifq(q, qtRk6F'-$-;TF{t qfiir<mr

(q) <Rcfr .ictllE qH-{fl $;IK "lsq(at?

(s) '€p:c@1-4' qx<fr $Tq't <frq5fr EFFelc{l'2

(u) ':{tqfufiai' fr qaf nR.r+ I

(O 'fr{R rfrl cqtWt'-qfr.{ qlrfrlfr sqE6{l?

(q) 'c{ftfr +qt c"tEF<', qT{fr $-{fc{i?

(<t) EE. eq. e. fr ntwFrt <Rf tqr

(q) Tstor'Ar-<l ?"llr<fi s:{t{ fa5ar

cq+t <frq elc<i a./oql "frB$ fu a

($) \{Tqfr rFfu-{trR $rfr sffi-<t+a qfr +-{I {{tfr

)x)o=)o.

)

.t

\t qxg=) Q.

qkxqt qxk<r+r

("1)

(rt)

(q)

lq\e:{-E il{q $vill s;{F{t sRfi cettq cstsrcrt ?

'slcqqt, qq{gfr'--fim ffim m$ ngl(nt wk<rEtr

{rfi-<t-rcO, q,mnt Rf&', qT-<fi ro oRfrotr
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(s)

(F)

et (s)

,hD. qtr &. lHIvy oRmr ffift ntwxl <[q?nt r.

csq qWeF qmtil $R {w{ctf ? \

ffi:fft wfte< 1fttta +E rfiqft cqoft<tr {Fril ?ft {ftft<al
\+ l.= 8*ft<1 cfr'l,ustwt*t 

4ttitt

(?r) qfiT+ Fr< 1ufiext qqE{Kt rEr-rqrfiqt ,ifr-<l 'qfirs'Wk<fi'+-at

ofltrrt? Fm erft tit ut<or-r<fi qmf ?{t t+l=8

8l (s) fur$ qr*r ft&-r++ cQg+ rse"l+R +fir+t

4-qrtt

Vsft Dtr*n'emdfiq<o etBflT+l $R +R crc$ d-rsl EKcttl

?+qI {q.r cusfr

fr-{R nfiI (elsqEt

- m qi+ qa<fr+ oR qsqBz oqm nRftqrs ftk<ntt

({) 'fifr THIflI {qsffit
qffi"tr*t sEslTt

futt sm <BFI s'fl
?ft clfur q'tst(

Tff Eft rr{El9l
_ "flfr T;flr qlKrtl

sr<fim r<mt otoBr
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(q)

ct (s)
I

\+ a.= 8

+fi-{ qs?ar qffi o-*st ufualr TFII ffi xqo'
)+ )+\=8
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v | (s) {wfil .rscc{a

ffcarqGl i4fl(<l

- sdfdl qrfr<nt ? ttrirqsft tf,d€' {a<fr-{t 6K <sw{r.'t ?

)+>+'l=8

47[rtl

({) "lrB ela?

nfiq qtrfi dtq qtrfi

- fifl nR "ts{d-{ri eisBr

t I aq qfttff 
"itW'5 ft;

(m) 'qW<R 6qft sbmft ncirrw'-lEl( qfr-{ $R {ve+al pn, c

({) 'cclr$gft el+'fr Ttb<I ffi avqfi'-RlTn qFiil <urfro 1ift

cxq=:o

rft5otg-+\r

. (rt) 'qflq qFFI oIvRisR ?Esft ?fu 1ffi-arfi q<l ftg* t{t

rr | (s) srD/srl {it^*il<fi "t[qft( q[ sR sR cl qrsB 
I

4a[dl

(q) 'fift .:Eo eqfti qfr .rrqrc{ft eF-sG silFt(fifi'-qa-<fr
-rc-roE r

h r (s) nf4$ btmtft 1rft 9< v1"lm'tpt vloBr

a

c'

a

ffirsl
a

a
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({) ?E EIi<l hr<vt +RlI arfirF'a lrft vt<V ers.t?{l a

)o r rfsrF:t qftErfls dF] h s fqftq\ft) sxQ.=)t'

(s) frstft wltEFtq:lt

qft{ tbtfi c"flsd fuuifi
qcf,i-{ 

"r$ rrf,<l s

(?i) FIaFF qDlftFI ciltufr

fiEilseil Ftatt otrr++

qlelfi Em E{rsl

{e-rT4t xqfu sq'Hk]

anm tlt $q]lq] v

('t) {Ift fis<r sl{-{fi

r 6liat"1etw<'vt&?u

<s1B crs't cqlcqrsffi

ftq?-{r Q1at csls"iFr s

): l ($) qEIR<n frdrd'sft n9( t{r als Ef6<t q{1i s:@41 <tr<<oi 5?ft a.r+

slvlE{t?{l a

+artl

({) 'qst(ft Eb.sl fiqmian ora-drr qqeft 
"Is(T-sl 68"1T{t qRr+ <trfi trn<'..

ensr'<mr qfrait n3 7aaa1 'rr-vPr \r c

t5l29T MMAN



)il wq{{A T<nn?{ B cxe=)c

(s) "r(Z{ (ffi) onx-{ cfErRstfr lq-qFrrfft v1irfr w6 1q{xr cdtr-;r-{

?t {+o=G

({) cff.<Is ($K-s) r"FT $-$ eEl qfiq( ?F.nat adtr;t-dt "r6-?EFt ?{t )+t+\=c

(ri) {t"Id (rltq) {"H $iilcal ? {?qFi(Tft T$ffi qitqi srtBidl E{l

)+i+\=c

(s) dE< (ersn) sqrm dRr xrqftiE etrtit rg'att [c.t-ffi-{ E{l i+e=c

)ox)=)o

l+q+l+l+\=) o

.t

l+l+\+\+l=)o
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@ tq $tr EEI \nrrfr $fi fiqrca

(fr) qeffi {cnefi(

@) <trsRfia

(rt) mt<Rq 6FF \+l+i+l+Q.=)o

(rq) <lrtmrs

(W) "16am$R-{f <l*lf,

(o {fial frk-<I sm-<t

(?) {fr{t frkdt wdls<t

q (v) <r-{Rnd r

v
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